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Exam. Code 213102
Subject Code : 5058

ML.A. Economics Semester—II

MAE-201 : MICRO-ECONOMICS-II

[Maximum Marks—100
SECTION—A

Attempt ALL questions. Each question carries
2 marks.

How AR and MR curves are related to each other
under perfect competition ? :

What is the shépe of supply curve under monopoly ?
Define selling costs.

What is peak load pricing ?

Define bilateral monopoly.

What is differentiated oligopoly ?

Explain limit price.

What is maximin strategy ?

Define bliss point

What do you mean by public goods ? 2x10=20
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SECTION—B

Note :— Attempt FOUR questions selection ONE questions

2.

. from each unit.

UNIT-I
Explain diagrammatically short run and long run equilibrium
of a firm under perfect competition. 20
OR
What is price discrimination ? Explain its different degrees
and conditions. 5,15
UNIT-II
Write a detailed note on Cournot's model. 20
| OR
Explain how kinked demand curve model explains the
rigidity of price under oligopoly ? 20
UNIT-III :

“Explain how Baumol's sales revenue maximization model

of a firm is different from profit maximizer firm ? 20
OR
Examine critically the Marginal Productivity theory of

distribution. 20

UNIT-1IV
'Pareto optimality can only be achieved under perfect
competition.' Comment. 20
OR
Explain how externalities are a source of market failure ?
How can they be controlled ? 10,10
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Exam. Code : 213102
Subject Code : 5059

M.A. Economics Semester—II
MACRO-ECONOMICS-II
Paper—MAE-202

Time Allowed-—3 Hours] [Maximum Marks—100
Note :—(1) The FIRST question is compulsory. Each part
of this question carries 2 marks ¢ .
(2) Attempt ONE out of TWO questions from
each of the FOUR units. Each question carries
20 marks.
1. (a) Define Monetary policy.
(b) What do you mean by labour market ?
(c) What do you understand by product market ?
(d) Define rational expectation.
(¢) What is meant by demand pull inflation ?
- (f) What do you understand by accelerator ?
(2) Define depression.
(h) Define trade cycle.
(i) Explain the term capital account.

- (1) How do you explain the term flexible exchange rate ?
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UNIT—1

Explain the derivation of IS and LM functions and also
examine the dynamic adjustment of IS-LM model.

OR

Discuss the effectiveness of fiscal and monetary policy in
terms of the IS and LM function.

UNIT—2
State and explain the Structural theory of inflation.
OR
Explain the Tobin's modified Phillips curve using suitable
diagrams. :
UNIT—3
Critically examine the Hicksian theory of business cycle.
OR

Discuss the Samuelson's model of trade cycles. Give its
criticisms.

UNIT—4

Explain Mundell-Fleming model in the context of open
economy.

OR
- Critically explam the monetary approach to the balance
of payments
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Exam. Code ¢ 213102
Subject Code 5060
M.A. Economics Semester—IJj

MAE-203 ; QUANTITATIVE METHODS FOR
ECONOMISTS-I1

Time Allowed—3 Hours] [Maximum Marks—100

Note i—Attempt FIVE questions

s in all. Question No. 1 is
compulsory and attempt ONE question, from each
of the FOUR Units.

L. @ Distinguish between linear and non-linear correlation.

(@) In a trivariate distribution
a, =2,az=a3=3<
b w07 I =r1,=05
Find b :
(iii) Explain Gompertz curve.
(iv) Define standard error of estimate,
(V) Explain the importance of time series analysis,
(Vi) Define probability density function,.
(vii) What do You mean by conditiona]

probability ?
(vii) Define Binomia] distribution, :
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(ix) Distinguish between Type-I and Type-1I errors.
{(x) What do you mean by an estimator ? 2x10=20
UNIT-1

2. (a) From the following data, find the Karl Pearson's
correlation coefficient :

X: 80 @ . B B W 0
Y: 48 65 74 33- 25 55 66
(b) Given the following data, estimate :
{i)The value of 'Y' when X' = 70
(11)The valye of 'X' when 'Y’ = 90
| X Y
Mean 18 100
SD. 14 20

Coefficient of correlation = + 0.8. 10,10

3. The following table shows the corresponding values of -
three variables X,» X, and X,. Find the least square -

regression equation of X on X, and X :

X503 il by eBuscd 2 gl
X,: 16 190 Bt 3
X,: 90 T2 00844, 42 308012

20
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UNIT-II
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7. (a) Define mement generating function, Why is it
~ called moment generating function ?

(b) Inacertain distribution 20 percent of the candidates

scored 60 or more marks and 30 percent scored

40 or less marks. Find the mean and standard

deviation of marks assuming that the marks are

normally distributed. 10,10
~ UNIT-1V
8.  Enumerate the various sampling techniques and describe
any two of them. 20
9. (a) Discuss the procedure followed in testing a
hypothesis. :

(b) A man buys 50 electric bulbs of Philips' and 50
-electric bulbs of HMT". He finds that Philips' bulbs
give an average life of 1500 hours with a S.D. of

60 hours and 'HMT" bulbs gave an average life of
1512 hours, with a S.D. of 80 hours. Is there a
significant difference in the mean life of the two
makes of bulbs, 10,10.
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Exam. Code : 213102
Subject Code : 5061

M_.A. (Economics) Semester—II
PUBLIC FINANCE

Paper—MAEQ-1
Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions iﬁ all. Question No. 1 is A
compulsory and attempt ONE question from each
of the four units.

1. @ Define Public Finance.
(i) What do you mean by buoyancy ?
(i) Distinguish between direct and indirect taxes.
(iv) Explain Wagner's Law. '

(v) What are the effects of public expenditure on
distribution ?

(vi) What do you mean by Revenue deficit ?

(vi)) Define debt trap.

(viii) Explain programme budgeting. .

(ix) Define the term ‘Fiscal Federalism’.

(x) What are the main objectives of fiscal policy ?

2x10=20
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UNIT—I1

Evaluate the modern theory of incidence of taxation.
20

Examine the role of Public Finance in developing countries
like India. : 20

UNIT—II

Explain the reasons for growth of public expenditure in
India. 20

Examine various principles of public expenditure. 20

UNIT—III
Discuss the importance and management of 'public debt
in India. o
Explain different kinds of budgets. 20
UNIT—IV

Examine the existing division of resources between the
Centre and the States in India. ' 20

Examine the interdependence of monetary and fiscal policies.
b
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